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Teaching: Concept, Objectives,

Level of Teaching (Memory,
Understanding and Reflective)




The level of teaching which demands the use of
higher order thinking skills is :

forem @1 W S 399 FIET F = Eﬁ'ﬂﬁ
W i W ShidTl &—
(a) Memory level teaching/&Jfd TR fereyor

(b) Understanding level teaching/ae R f3remor
(¢) Reflective level teachmgfﬁﬂ'ﬁ&)" T ferem

(d) Creativity level teaching/{d-Ihdl EdY _f3requr

NTA UGC NET/JRF June 2021‘05-01-2022 Shlft-lﬂ




The level of teaching which demands the use of |[Ans, (¢ : T & fomee o 32 & & o

higher order thinking skills s 31 A 9 5 21 30 P o 4 o
W;’?‘“ﬁmma‘ e |- T T il { 9 7% 0 91 S0 T A 8
R - i o 0 ' 5 2 o

(a) Memory level teaching/®d & faem
(b) Understanding lev teaching/@¥ . i
e Reflective level teaching famvia &R e

(d) Creativity level teaching T & Fem
NTA UGC NETIJR June 20210541-202 Shit

T ¥ 91 9




List-1/g=f-1 List-11/3=-11

odel of ;‘:racylng/ Developer/ \/ ( C) \% l I11 Il
(a) Positive Interdepe- (1) Fannie Shaftel/ (d) l [ Il [V
ndence/ ol ift-
, S v NTA UGC NET/JRF June 2021(05-01-2022 Shift-II) V4
(b) Structured inquiry/ (II) David Johnson/
wrmara O e T
(¢) Role playing/ (I1II) Donal Oliver and —
James Shaver/
gt fafg eHFe 3Afferat 3
ST IE
(d) Jurisprudential (IV) Robert Slavin/
inquiry/
faferemeia s qae wrfaq

Choose the correct answer from the options
given below :
Hior o ™ faweat & ¥ 9E 39 @ =@
i —

A B C D

(a) 11 Il A% I
(b) 1 v I 11




List-1/g=f-1 List-11/3=-11
Model of Teaching/ Developer/

3TLATAT &Rl HIST fawmras
(a) Positive Interdepe- (1) Fannie Shaftel/
ndence/
GehIeres Sfafadar FfA see
(b) Structured inqui 1) David Johnson/
: re S it

(¢) Role playing/ (I1I) Donal Oliver and
James Shaver/
gt fafg eHFe 3Afferat 3
ST 9Ia
(d) Jurisprudentia (IV) Robert Slavin/
inquiry/

S gad wrfaqa
Choose the correct answer from the options
given below :

Hior o ™= faeweat & ¥ 9@ 39 &1 waA
Wit —
A B C D

(a) 11 I v I

\(Pd)’ 11 IV | 111

(c) \Y l Il I
(d) [ 11 I \Y
NTA UGC NET/JRF June 2021(05-01-2022 Shift-11)
Ans. (b):
A TaoE  —| [1. S8 e
G GIEEG)|
B. §iMud W4 V. T2 il
C. e g . % T
D. faferemeig 919 | 111, et 3Afefak 3R S Tk




Various kinds of thinking are enhanced by
particular models of teaching. Concept
formation is one such model which trains to
solve problems inductively Identify the correct
sequence of stages for concept formation.

uieen o fafay yew &
ﬁmﬁ_qﬁgﬁ%lmm@irm

uied §, S ANHATASG ®U @ GUen qume
o UIYISIT ST #1 Heheun famior & wwun o
el il it UgelT= ahital—
(A) Grouping items into categories with common
attributes of members/7al H T & TAH
oI i ST §
(B) Identifying the topic/problem/
o/ g &t ggaH
(C) Developing labels for categories/
§ fore et faafea e

(D) Enumerating the data relevant to

topic/problem/fa¥a/gmen ¥ dm siswel &
TOET HEAT

Choose the correct answer from the o_gtlons

given below :/ et foar & faeeut o
I T AT AT —
(a) (A), (B), (C) and (D) only/
&ad (A), (B), (C) 3R (D)
(b) (B), (C), (A) and (D) only/
#ad (B), (C), (A) 3R (D)
(¢) (B), (D), (A) and (C) only/
&ad (B), (D), (A) 3 (C)
(d) (D), (A), (C) and (B) only/
&dd (D), (A), (C) 3R (B)
NTA UGC NET/JRF June 202.1.(0§'01'?022 Shift-ll)l
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Various kinds of thinking are enhanced by
particular models of teaching. Concept
formation is one such model which trains to
solve problems inductively Identify the correct
sequence of stages for concept formation.

uigent o fafeer yar &
f%ﬁn'& ﬁ gfeg 8d &1 UehoudAT ToAT U UHT

Aied &, T IMWATHG © T THET TUTEH

&1 URTeTuT T §1 HanouAr fratr 3 e &

el thH i U ahifau—

(A) Grouping items into categories with common
attributes of members Elﬁ qedi & 9uE
oI i ST §

(B) Identifying the topic/problem/
f%lwm};rng &l qapaﬂp /

(C) Develo gmg labels for categories/
ot fastd e v

(D) Enumerating the data relevant to

topic/problem/fav@/qwen ¥ @ stidwel @
T BT v~

Choose the correct answer from the o_stlons

given below :/ Her faar = faeweat ¥ 9 &
IHT & AT BTa—
(a) (A), (B), (C) and (D) only/
Had (A), (B), (C) 31 (D)
(b) (B), (C), (A) and (D) only/
(B), (C), (A) 3R (D)
&/ (B), (D), (A) and (C) only/
Had (B), (D), (A) 3 (C)
(d) (D), (A), (C) and (B) only/
Had (D), (A), (C) 3R (B)
NTA UGC NET/JR_F June 202.1_(0§'01'?022 Shift-ll)l ,

Ans. (c) : Tahea faor & =wor srenferfiaa 2
(i) fowa/quen @i ggaH

(ii) forva/wen @ T sfidel & M
(i) W& 1 TEE o THE 00 & gfrE § T
(iv) 8t & for ofaet o )

¥: faaed (c) 99 2|




Match List I with List 11

Tei-1 @t G- 11 9§ gafea wifsa:

List 1//=-1 List 1I/A=-11
(Model of Teaching) (Developer/faaht
(FraruT aise) T & aret
/ fagm)

\/A. Positive interdependence 1. Robert Slavin L&
HehTeeh ey fvivar Tae wra=

—_—
/B Structured inquiry 2. Fannie Shaftel
et viioe e
\// C. Grou investigation 3. Roger
|qs Johnson
. TS S1FEAH
. Role playing 4. John Dewey
aftrenT fee= W et

Choose the correct answer from the options

given below/=r fau 7o fa=weal & 4

=fu:

A B C D
(a) 3 | 4 2
(b) 1 4 2 3
(c) 4 2 3 |

(d) 2 3 1 4
NTA UGC NET/JRF June 2021(04-01-2022 Shift-II)




Match List I with List 11

Teit-1 @t Gei-11 ¥ gafea st

List 1/a=-1 List 11/A=-11

(Model of Teaching) (Developer/faant
wise) T &I arer
fagm)

A. Positive interdependence | 1. Robert Slavin

RIS TT _ATae wATta

B. Structured inquiry 2. Fannie Shaftel

wfara g=at ywRee
C. Group investigation X, Roger
|ag Johnson

- -

D. Role playing / \ 4. John Dewey
aftrent fdg L AT St

Choose the correct answer from the options

given below/d=r fau 7o fascal & & 3T

CIRLE
A B C D /
(a) 3 | A 2
(b) 1 4 2 3
(c) 4 2 3 1

(d) 2 3 1 4
NTA UGC NET/JRF June 2021(04-01-2022 Shift-I1)
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The theory of Zone of Proximal Development
was proposed by:

wiver fowm & fagld & fewed g
yfeaTte fema a?

o) PiagetfAE(b) Freud e )
(¢) Vygotsky T (d) Bloom/s S
NTAUGC NETURE June W(0H0L202 ShittI) | )~
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The theory of Zone of Plroximal Developmentl Aus, (¢) : T foa 3 figh @ u?éwﬁaﬁ
asproposedby: T 3 s o 41 A @ 0
wiwe fe & foaln W RS W) o o w3 9
VAR Py T (i) Fm & (20D) % 9 3

(a) Piagelfﬁﬂl@l (b) Freud/%rde

\jp/)’V ygotsky/ AR (d) Bloom/seTH

NTAUGC NETHRE June 2021(04-01-2022 Shift-11




Given below are two statements :
e 9 e fou o 8

Statement 1 : Knowledge, comprehension and
application levels in Bloom's taxonomy belong
to the higher level of cognitive learning.

HUT | : W G afiteRt (SFEEEN) W A,
FFarer 3N YA W AT R &
Iod W W Hafud g

Statement Il Organization and
characterization belong to higher level of
affective outcomes

/

FAT [ ; FaEm AR SR WS
TRt & Iod WH W Wl g

In the light of the above statements, choose the
most appropriate answer from the options
given below :

IUTTH ®UT & Il o, Frer fau o fasweut

U ¥ WaH IUYTH I A 99T HITAT;

(a) Both Statement I and Statement II are
correct/&d (I) AR (1) a4 T@ é

(b) Both Statement I and Statement II are
incorrect /g4 (1) R (1) Il T 2

(c) Statement I is correct but Statement II 1s
Incorrect
F9 (1) T 2, Wi F9 (11) Tod 2

(d) Statement I 1s incorrect but Statement II 1s
correct \ \
49 (1) Ted 8, wAfeh FI9 (11) T8 2

NTA UGC NET/JRF June 2021(21-11-2021 Shift-I)




Given below are two statements :
e 9 e fou o 8

Statement 1 : Knowledge, comprehension and
application levels in Bloom's taxonomy belong
to the higher level of cognitive learning.

HAT 1 : ﬁna&aﬁhﬂ(m)ﬁm

Statement Il Organization and
characterization belong to higher level of
affective o}ﬂcomes

Ans. (d)/=7 3 afid] )
FIVAM W HEE A e )

. 3dY 3K
Gafd 2

3: mﬁmﬁmwzﬁmmm

Fae HR G qaHS T & I &R Od

Fiﬁﬁlﬁél Hd: RG] FIF*’-T@I
zgfer faehed (d) & 2|

FAT 1] ; a3 St
TRt & Ieu WY W watid B \j

In the light of the above statements, choose the
most appropriate answer from the options
given below :

IUTTH HIA & ATelle |, o fou wu faswmeat

U ¥ WaH IUYTH I Gl TI I

(a) Both Statement I and_Statement II are
correct/HIT (1) 3R (1) 4T &t 2

(b) Both Statement l .and Statement I are
incorrect /&I (1) 3R (II) Il T 2
(c) Statement I is correct but Statement II 1s
incorrect
F9 (1) T 2, Wi F9 (11) Tod 2
(d) Statement I 1s incorrect but Statement II 1s
~—= correct \ \
49 (1) Ted 8, wAfeh FI9 (11) T8 2
NTA UGC NET/JRF June 2021(21-11-2021 Shift-I)




Who proposed theory of meaningful verbal
learning?

e yfes e & fagra &yl
et femam?

(a) Benjamin Bloom/ssTiHA oH

(b) Jerome Bruner/STH PRl —

(c) Lawrence Kohlberg/@Rg Figear —
(d) David Ausubel/2fdE Higae
NTA UGC NETWRF June 2021(30-11-2021 Shift) )




Who proposed theory of meaningful verbal |Ans, (d) T4 lgm Hfﬂ’[q 3 firgh &1 viawed gﬁiﬂé’
learning? 1 {21 % gl 39 7 9] G a
wiE ez e & g @ g ﬁmmmmmmm
ot fen? i de e
(a) Benjamin Bloom/sifi o Nz

(b) Jerome Bruner/5Tg R

(c) Lawrence Kohlberg/ﬂﬁ?( ﬁwﬁ

(d) David Ausubel/2fde mﬁﬂ 4

NTA UGC NET/JRF June 2021(30-11-2021 Shift-1) 8 T & %
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(a) Both Statement I and Statement II are

correct/HF 1 3 11 T T 21

Given below are two statements
Statement 1 : The ability to form and use
symbols (words, gestures, signs, images, and so (b) Both Statement I and Statement II are

on) are accomplished in the preoperational incorrect/ F2 1 3 11 T Terd
period. —_— (c) Statement I is correct but Statement II 1s

Statement I : According to Piaget, incorrect®9 | 4 ¢, fohg Hor 11 e &

A . (d) Statement I is incorrect but Statement II is
{);'t;)(:p:gl‘::z::::iilcchlldren do not have a tendency correct/FU 1 37T §, febeq 9 11 T &1

In light of the above statements, choose the NTA UGC NET/JRF June 2021(26-11-2021 Shift-11)

most appropriate answer from the options 8

given below

et 3 el T E —
FUAT - | : Ukl (ITe2, Wra-fimr, doha, fofa

anfe) & famior qem SuawT @i ewer Ud-

u‘mmﬁﬁm&aﬂ?ﬁﬁl

— 11 : frarst & ww, gd-wiwarae
s st 8 8 g
IUYTH HAAT ok ATk W ffemaa fosheat o




Given below are two statements

Statement 1 : The ability to form and use
symbols (words, gestures, signs, images, and so
on) are accomplished in the preoperational
period.

Statement 11 According to Piaget,
preoperational children do not have a tendency
to be egocentric.

In light of the above statements, choose the
most appropriate answer from the options
given below

el gt s feu MU g
FUT - | ; Gohell (IT&T, WTa- T, Hoha, fofer
anfe) & fmior qom Swamr @@t amm 7d-

wifthaTe st 8 fremfed gt §1 —
& — 11 : TS & oEN, vd-winare

wammﬂmm.y

IUYTH HAAI ok ATk W ffemaa fosheat o

(a) Both Statement | and Statement II are

correct/&I [ 31X 11 1 Tt &1

(b) Both Statement I and Statement II are

incorrect/ &9 | 3R 11 21 7Teid 2 |

Statement I is correct but Statement II is

incorrect/®I | 9 &, foheg F99 11 7Terd |
(d) Statement I is incorrect but Statement II is

correct/HI | 379 &, foheq F97 11 91 €1

NTA UGC NET/JRF June 2021(26-11-2021 Shift-I1)

Ans.@/@éﬁﬁmmwﬁméswma;ﬁm
Y

T & fdam

& g & qqU w0 21 W@
g B 31 39 A & G aed

A 2, wfehd 31ft T SEEE FE & 3G Tol W

® 2| 39 G § Hadl & fmior g1 39Em <

fosqfed @it @ a9 STaal § STedsdhdl

3 T 21 o F99 [ T a9 99 1] 39 ¢

W(c)ﬂﬂél

IS = e
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Given below are two statements

Statement I: Reliability refers to whether a test
measures what it says it measures.

Statement II: Validity refers to whether a test
consistently yields the same or similar scores.
In lights of the above statements, choose the
most appropriate answer from the options
given below

Hr=r r = fau 1o §:
wmaa-1: fagadraar et doha 33 20T & foF ==
aﬁéuﬁwwsﬁawmm%a‘rag

hedTl & fos a8 "rmaar 81

HAT-1: ALTAT KT Hehd =W 3T g Toh =T =i

giteTuT I B9 W F9E 9T GBS ThiT 24T g1

IUUTh Shel=l oh 3TTelah |, Hi= fau 1o fasmear

ﬁﬁ'{:’aﬁsug?—aa'ﬂ'rawa'a——ra—ﬁﬁrq

(a) Both Statement 1 and Statement II are
correct/FHI= 1 31X 11 <41 T & |

(b) Both Statement I and_Statement II are
incorrect/&ha= 1 31T 11 24T Tad 2 |

(c) Statement I 1s correct but Statement Il 1s
incorrect/&ha= I T2l 2 , foo<q 9= 11 TTeqa 2

(d) Statement 1 1s mcorrcet but Statement Il 1is
correct/&a9 1 TTad g, fohq &9 11 T&T 21

NTA UGC NET/JRF June 2021(26-12-2021 Shift-I)




Given below are two statements
Statement I: Reliability refers to whether a test

| 8 O T 2 A (e @ 9a o
measures what it says it measures.

: : A
State.ment ll:. Validity refers tq w.hether a test " W aﬂg qﬂw ﬂwm F\q ﬁ ag[ ?‘“ W @R i
consistently yields the same or similar scores. g am m Tl W 7 aﬁ.{ é ﬁ 0 aﬁ.ﬁ} qﬂam T ﬁﬁ[ :

In lights of the above statements, choose the

most appropriate answer from the options

e Ptions |\ 1 & 9 3% & ¢ & @ A ¢l
e 9 wae fau o §:

HaA-1: Tagaraar &1 d@oaha 39 30T § o6 ==
iz THeruT 39 =S &t AU &iaT & S 98
hgal § fer ag wUar g1

HAT-1: ALAT HT Hohd 3@ 3T ¢ fom ==m =g
TiaruT GHIT ®9 W JE 91 9UET WhiT 29T g1
IUATH HAAT oh 3Telleh |, e fau wu fawear
ﬁﬁn@mmwma—ﬁﬁq

(a) Both Statement I and Statement II are
correct/hgd 1 3 11 ST Tl 2 |

b) Both Statement I and Statement II are

‘\) incorrect/&HI= 1 371 11 24T Teid 21

(c) Statement 1 is correct but Statement II 1is Easy Notes 4u
incorrect/®9T 1 Tl 2, foheq &9 11 7o 21 _ Online Study

(d) Statement I is incorrcet but Statement II is
correct/&HF | Taa &, foheg &9 11 &8 21

NTA UGC NET/JRF June 2021(26-12-2021 Shift-I)




0.  Match List I with List 11
welt |t gt 11 @ gufera it
List 1/ | List [I/g=H 11

A. Classical conditioning | I. Albert

FATHRT HTHAT Bandura/ 37eae

g
B. Operant conditioning | II. Ivan  Pavlov/ \0
foramyga argge g \_—

C. Social learning theory | IIl. Lev Vygotsky/

wrattees ey fagia
D. C.onstructivism/ IV.B.F. Skinner/
LG .U, fiaT

Choose the correct answer from the options
given below:

rer fau o faemeat ® & vt 3w g

(@) A-L,B-TIL,C-1,D-1V

(b) A-TILB-I,C-1V,D -1

(¢) A-1,B-1V,C-1,D-1II

(d) A-1V,B-1,C-1II,D-1I

NTA UGC NET/JRF June 2021(24-12-2021 Shift-1)




0. Match List I with List 11
welt | &t it 11 % gufe st
List I/ | List [I/g=H 11
A. Classical conditioning | I. Albert
aﬂrﬁﬁﬁuaaw:r\ Bandura/ 3@
B. Operant conditioning\41. Ivan  Pavlov/
foramgd s | [ O g reed
" A
C. Social Iearnmg the% III. Lev Vyﬁotsky/
D. (,onstructmsm/ V.B.F.  Skinner/
LG .U, fiaT

Choose the correct answer from the options
given below:

rer fau o faemeat ® & vt 3w g
(@) A-1,B-IILC-I,D-1V

(b) A-TII,B-ILC-1V,D-1

(c) A-ll,B-IV,C-l,D-[Il/

(d) A-IV,B-L,C-1II,D-1I

NTA UGC NET/JRF June 2021(24-12-2021 Shift-I)

Ans. (¢) : el GHferd FdT e g1
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The objective of reflective level teaching is:

fameff waw o fOraror =1 a=m 329 &7

(a) To impart knowledge to the learners.
ARRTHEHASAT HI FH T FHEAT \

(b) To develop insight into the learners to solve
problems. /W= & @HEHE & faw _—
Hfemadi=a § g3 fasfaa

(¢c) To make students relate facts with the
principles./@ & d& & fagid & @Y
e g HF & fou Fgmi

(d) To encourage students to apply knowledge in
similar and different situation./@T & FH &l
Ty 3R fim foafd & W@ @ F fou
SicaIed AT

NTA UGC NET/JRF June 2021(04-12-2021 Shift-I)




The objective of reflective level teaching is: An@ﬁwﬁ W N 71 329 ¢-
formoff e & forerm @t 329 ¢ |y wmet & wew & fou sfeds § g
(a) To impart knowledge to the learners. ﬁafﬂa ATl

SRS B JH 5 o B TR 3 Sl A fof &
(b) To develop insight into the learners to solve ||~ /@ﬁ § af fi o o o ot e o faer

/ problems /@A & M & fou
Al § g3 fafd &)
(¢c) To make students relate facts with the

principles. /ST o & g & Wy

g F & for F
(d) To encourage students to apply knowledge in ] ” ]
similar and different situation,/3F & FH & "4 -5 &
el b ey
S| <

NTA UGC NET/JRF June 2021(04-12-2021 Shift-I)




What is the name of the mental process that
assists learners to reflect on their thinking by

internalizing, understanding, and recalling the
contact to be learned?/ 30 WA Wickam &

T T § T M, Tgurgiieran, afemia
@ T A oo & Yege & g
fovemeft @t 3k formt famot v wwgrera et 87
(a) Meta cognition/ 3

(b)
(c)
(d)

Rubrics/&lsidd
Peer tutoring/AHHT ST

Debriefing e FHET A

NTA UGC NET/JRF June 2021(03-11-2021 Shif¢-11)
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What is the name of the mental process that
assists learners to reflect on their thinking by
internalizing, understanding, and recalling the

contact to be learned?/ 30 W{teh Yiehar &
A 0§ T i, TEmyiterar, st
& TH A6 - & FEEH & g
forenel§ @ e ferer et o g el &7

(2) Meta cognition/ 35T
(b) Rubrics/®fsad /

(¢) Peer tutoring/FwERe SR
(d) Debriefing/Ffema Famd o
NTA UGC NET/JRF June 2021(03-11-2021 Shift-11

\

\«{)aammaw H & AGL J&H FHET|

Ans, (a)[/‘ﬂf. YU A A S e

, e &t S fowe] & RN o
o foerd & 3% fim fondl ® W@ & R
ity @ i & ar o e & o a9 T | R

e SR @ et e, 3 @ et A

g gu sfm & wfa i & qo fdaa @ &

faaftd & & fou w 3w 47 2

A T s a5 e e % o A

nfafaferar srenfefaa —
W) A T frEe T JF i & e & A &
() TE H T 7eE, E § EE & geen @
W@ 2 39 97 999 U g &

¥a: fadew (A) & 21




Arrange the phases for syntax of Group
Investigations Model in correct sequence :

TUE 90T Aiee o arad fa=ama & SIun ht
TE T H sTaftd shiferg:
. Students formulate study task and organise for
study/STH- BTHATE ITETAT ShTH dAR HId 8 31T
T Rl AT hid 8l

. Students analyse progress an process/ST=-
BTGyl 3 wfshar =1 favaraur e g

. Students encounter puzzling situation/ST3-

BIATSN o6 QT I &I AT gifeerfa 37T 8l

. Independent and Group study

wWda 3T g ema
. Students explore reactions to the situation/
BIA-BATE giifrerfa @t gfafsrareit @1 =awuor
&Hid Bl
Choose the correct answer from_the nigtions

given below/ Hrer fau g fawcat & O I
hT ST chilaa:
(a) A U,B. E, D (b) B, A, D, E, C
(c) C,E.A.D.B (d D,E.B,A,C
NTA UGC NET/JRF June 2021(01-12-2021 Shift-I)




3. Arrange the phases for syntax of Group As. @. W W Aied % GIE2| ﬁ:q]'q % a'{'uﬁ &l

Investigations Model in(corr

TE A WiTA & AT TaATH & it @ | [T H e-

T o O e o | |©) Fm-omt % i vker s e o o )

A udents iormuiate stu ask and organise for : : :

7 Sty o G st et e g £ she| ((E) FA-ORE S et a1 o 7w @
T T AT T E) (A) TH-TEN T FE dOR @ 2 AR AT @l
Students analyse progress an process/ST- Fafted m \I
BIEATE Wity 207 wfehan @t faveraor & € ¢

C_ Students encounter puzzling situation/ST- (D) Lk am m@ ml .
ST 5 T WY Y e uRRefy andt 1 | |(B) E-SE S AR SR 1 favermo % €
\9/lndependent and Group study 3q: faFeg (c) 949 %|
WA 3 Aug remad
E. Students explore reactions to the situation/
\/;rar-m ufifrarfa @t wiaferanst w1 aramur
& gl
Choose the correct answer from the options

given below/ et feu 7u faweat & @ I

Easy Notes 4u
ol =g E*ﬁ@ Online Study

(a) A, C,B,E,D (v) B,A,D,E,C
(c)C.E.A DB (d D,E,B,A,C p— o
TA UGC NET/JRF June 2021(01-12-2021 Shift-I) Ay




The concept "paradigm" is associated with :
“TuTaet! (UTETE) @ SrEumun fREd Wy L\V\/
e T

(a) Karl Popper/@Tdl T
(b) R.A. Fisher/3R.T, fthyR
(

(c) Imre akatos/3 THIH

d) T.S. Kuhn/21.UH. 37 —
NTA UGC NET/JRF June 2021(30-11-2021 Shift-I)
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The concept "paradigm™ is associated with : @W ki WRUH A, T ﬁ
T (W) @ A | (s @zﬁ@wﬁ?} it 4 i) 106 §
bEL G T I —

(a) Karl Popper/ar TR

(b) R.A. Fisher/3., fio¥m

(c) Imre Lakatos/sR THeH

(d) T8 Kun @, 38
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Statement I : As per Piaget's stages of cognitive
development, the child learns a language and
begins to use symbols to represent objects

during the pre-operatlonal stage
HIA-| ; %nnﬁ & W

SELI @ vﬁmm T & NI A6l W
g & s e @ i ¥ fow el a
YA AT 3T T T 2

Statement 11 : As per Piaget's stage of cognitive
development, the child learns through reflexes,

senses and movement-actions on the environment
during the formal operational stage.

HIA-11 : T fawm & A & =wun
& AN fiuemiie: HiRaTee: TR0 & N

In light of the above statements, choose the
correct answer from the options

iven below
S B B T B, Fr9 e
ﬁﬁuﬂmmma&m

(a) Both Statement I and Statement II are
true/HF 1 3R 11 241 T9 2

(b) Both Statement I and Statement II are
false/®¥ [ 3R 11 a1 319 2|

(c) Statement I 1s true but Statement II 1s
false/®Ha | 94 2, fohed H94 11 318A 2|

(d) Statement 1 1s false but Statement II 1s
true/&HIA | 39A 2, o F9 11 94 2|

NTA UGC NET/JRF June 2021(30-11-2021 Shift-I)
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Statement I : As per Piaget's stages of cognitive
development, the child learns a language and
begins to use symbols to represent objects

during the pre-operatlonal stage
HIA-| ; %:mﬁ & W

muﬁm;m%mmw
e § 3T awqar @ gun Weltehl el
YA ST 3T T T 2

Statement 11 : As per Piaget's stage of cognitive
development, the child learns through reflexes,
senses and movement-actions on the environment
during the formal operational stage.

HIA-11 ; HFTwe faem & frars & s
& ATAN JUeiie WiRaTHE w0 & e
aTele e, mWﬁnﬁ-m%
WAy ¥ Hrgan g

In light of the above statements, choose the
correct answer from the options given below

IUUh hAAl o Tellah |, e T
# & W I T AT W

(a) Both Statement 1 and Statement Il are
true/&HI= 1 3R 11 241 99 2
(b) Both Statement I and Statement II are

fhAse/FHAT [ 3 11 ST 379 2|
(cyStatement 1 1s true but Statement II 1is
false/&9< 1 ¥4 &, fhg 9= 11 319 31T 2|

(d) Statement 1 1is false but Statement II 1is
true/&99 1 319 7, fo<g 99 11 I 21

NTA UGC NET/JRF June 2021(30-11-2021 Shift-I)

Ans. (¢ I FRaT %  § 901 % oA
W HRAeE T F R Ao o dEm g o
TFegolt 1 3 o ferw et 1 ST S S R
¢l U foam & fem & T & e gad
yfdforaTee T & SN AT Ndad, 3fsdl 9wt
B 13- 3 o 3 W &1 56 T 3 19 8
71 o 11 379 21 3: feed (o) & 2




Given below are two statements

Statement I: All components of working
memory are in place by the age of 4 in a child
as a development stage

Statement IlI: If a child does not continue to
pay attention to information, the activation
level weakens and finally drops so low that the
information cannot be reactivated and it
disappears altogether.

In light of the above statements, choose the
most appropriate answer from the options
given below.

Hrer S sy fou T :

HAT - | : Taema &t rawen & TUH 4 a9 @i
3 & aew | fRawfar @fa & wft wew
37T TATT UT &I £

HAF- Il : goARl & Wa afg u&s aeew
TAMER &A1 @l odT, af I W SN &
3T 3 ® ga=n AR e § fos g & g

\o_

b

IRE T fFa T wehar N Tg qUiwT |

fereTet &1 e §

IWITH HUAT & 3eires #, et 2w v fereweat

(a) Both Statement I and Statement Il are correct
@ | 311 3 e 2

(b) Both Statement [ and Statement II are
incorrect /&4 1 3R 11 i Terd 2

(c) Statement 1 1s correct but Statement II is
incorrect /&4 | Wl &, febeq & 11 Terd g
(d) Statement I 1s incorrect but Statement II 15

correct /F4 | T ¢, febe 11 T @
NTA UGC NET/JRF June 2021(28-11-2021 Shift-11)




Given below are two statements

Statement I: All components of working
memory are in place by the age of 4 in a child
as a development stage

Statement IlI: If a child does not continue to
pay attention to information, the activation
level weakens and finally drops so low that the
information cannot be reactivated and it
disappears altogether.

In light of the above statements, choose the
most appropriate answer from the options
given below.

Hrer S sy fou T :

HA - | : faara &t saeaT & WU W 4 99 @t
3 & aew | fRawfar @fa & wft wew
37T TATT UT &I £

HAA- Il : GoARd & Uia g ue aeew
TAMER &A1 @l odT, af I W SN &
3T 3 ® ga=n AR e § fos g & g

Ifta E fmar o1 waar i g guiww @
farere &t <iar 2

IUIITh HUAT & ATeites |, e fau o faeneat
o W WE 3T H TIF R

\(%oth Statement I and Statement II are correct

/@ 1 3R 11 3T TE 2

(b) Both Statement I and Statement II are
incorrect /&4 1 AR 11 241 Tad &

(c) Statement I 1s correct but Statement II 1s
incorrect /&9 | TEl 2, foheg Fg 11 TeAq 2

(d) Statement I 1s mcorrect but Statement II 1s
correct /&I | Tad 2 , foeg 11 @@ 2

NTA UGC NET/JRF June 2021(28 11-2021 Shift-11)
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Match List I with List II/Z=t 1 <6t 9=t 11 9

Eﬂ'ﬁ“‘ﬁ‘f a—ﬁﬁrq:
) List -1/=T -1 List- 1I/&=T- 11
\/" Neural system of Type of Memory/ \/\
Brain/( <hl Vv ( wﬁ.[ Uk )
= =t 97 ) _—

A. Conscious/dd4d

[. Implicit Memory/

B. Unconscious/37dd

I1. Procedural

Memory/
Frfafaes wfa
C. Motor skills/99ma | III. Explicit Memory/
Hierel (die Rahew) geah Ty
D. Own experiences/ IV. Episodic Memory/
HATHTTHI

Choose the correct answer from the options

given below:

Hrer fau o faweat # 9 Ot s g

(@ A - IV,B - IIILC - LD - 1l

(by A - IILB - ,C - ILLD - IV

(¢)A - LB -1I,C - IV,D - III

(d) A - ILB - IV,C - II,D - 1

NTA UGC NET/JRF June 2021(28-11-2021 Shift-I1)




— = Al (b):)
Match List I :mth List 1I/&=t 1 <&t 9=t 11 | o T
List -1/3=H -1 List- I1/@=i- 11 AR 1 A wet q T yer
Neural system of Type of Memory/ A. I 1. Feath gy
Brain/( @ (wgfa g ) B. 3fgdd 1. 3fdfted Sgfd
=R Tt &) C. 99 el (AT fhed) | 11, Frfarees §id
A. Conscious/ﬁ?ﬂ I Implicit Memory/ D. A9 V. g Pﬁ_’ﬁﬁ
7 st wfa 34: fahed (b) 99 31
B. Unconscious/ I1. Procedural
Memory/
Frafafes fd
C. Motor skills/931g /&P Explicit Memory/
Hoe (e fighe) g T
D. Own experiences/ [V. Episodic Memory/
ST
Choose the correct answer from the options
given below: =
et fau e faweat § ¥ 9 39 g _— _‘I
(@ A-1vV,B - lILC - LD - 1 Easy Notes 4u
\brA - 1ILB - LC - II,D - IV Online Study

(c)A -LB-1,C - 1V,D - III
(dA-1ILB-1V,C - IIILD - 1 e 4
NTA UGC NET/JRF June 2021(28-11-2021 Shift-1I) y SEEEEESSSSSEE=S




\/Cognitive domain for behavioural objectives
comprises which of these objectives?
A. Evaluation ~— B. Valuing
C. Comprehension D. Precision \%

E. Knowledge

Choose the correct answer from the options
given below:

agRardl Ieval o g WA & | 34
A. Tedieh B. e ferivor sear
C.aus D. Zrerefar

E. A
e fau Ty fasheal @ 9 @& 39X 94

(a) A, Band Conly /&ad A, B, C

(b) B, C and D only/ &ad B, C, D

(c) A, CandEonly/ &ad A, C, E,

(d) C,Dand E only/ &@@ C, D, E

NTA UGC NET/JRF June 2021(28-11-2021 Shift-II)




Cognitive domain for behavioural objectives
comprises which of these objectives?

A. Evaluation —  B. Valuing

C. Comprehension . D. Precision

E. Knowledge

Choose the correct answer from the options
given below:

HagRATdl Ievdl & U GATATHS & # 39
Wﬁaﬁwﬁgmm%
A. geaiEa” B. Wear forertvor @t
c.|usH _- }mmim
E. A
Hrer fau Tu faereut § 9 W IO oA
(a) A, Band Conly /&ad A, B, C
(b) B, Cand D only/ Fad B.C. D
Yf A CandE only / &ad A, C, E,
(d) C,D and E only/ %ad C. D, E
NTA UGC NET/JRF June 2021(28-11-2021 Shift-I1)
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Arrange these instructional events for
delivering the lesson to students in sequential

order from the begmnm%() the end.

3 SIS
T3 a?r YRR | 37T & :‘r S
A. lnformlgthe learner of the objectives

ILgAl I Gt ST

B. Eliciting desired behaviour
qifod aag YT T
C. Gaining attention/&aT MRS HIAT
D. Presenting the content/fawa o wd AT
E. Providing Feedback/gfeqf¥ Uam= =T

Choose the correct answer from_the options
given below/ ﬁ:q Tl't{ faweat 7 9 I

@1 TG T :
(a) A,D,B,C,E (b) B,C,A,E,D
(c) C,A,D,B,E (d) D,C,B,AE

NTA UGC NET/JRF June 2021(25-11-2021 Shift-I)
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Arrange these instructional events for Ans. (c) : faafei # T3 M & ﬁ'*TQ Ll mg%wm
delivering the lesson to students in sequential g & GO ¥ 3T & T F9 2

order from the begmnm%to the end.
frefiel @ e a % fo0 37 orivwen |- S S e

TS W R 3i 35 7 i, R 1 3 6 o
A. lnforml%the learner of the objectives . Wﬂ'{ﬁ TG S
Rydl @ g N =— iv. ifed HGRR WG
B. Eliciting desired behaviour V. W &l A
o STERH YA & E— \/

C. Gaining attention/SaT 3T HTAT —==
D. Presenting the content/fere@ &g y&ga &t

E. Providing Feedback/Jfeuf® ye= &t
Choose the correct answer from ‘the options
given below/ ﬁq ‘IE U ¥ wgt I
& TT T :

(a) A,D,B,C,E (b) B,C,A,E, D
) C,A,D,B,E (d) D,C,B,A,E
NTA UGC NET/JRF June 2021(2 11-2021 Shift1)
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\/WhiCh of the following are in the "Six Qhoose the correct answer from tlll; options
Thinking Hats System", a form of parallel gxlﬁﬁow’ T g et

thmkmg (a) A, Band C only/&ad A, B 3R C

Z}"ﬂ WﬂT'ﬁ" m W %m (b) B,CandDonly/aﬁ?*T B,Caﬁ'ID
ﬁqm)ﬁ a}mﬁmm&m% (c) B, D and E only/%a@ B, D 3t E

foerferfig o & w (g?rf h[()}??n: lf'r?.;] mﬁ 2(:1)’2[1)(23?1"-I 1 1E-2021 Shift-1)
A. Brown Hatgf (a734) 21 -
B. White Hay¥aq 21 e
C. Violet Hat/dmt 2rd -

D. Red Hat/@ret 2ndt

E. Black Ham m | Easy Notes 4u I -
] . Online StUdV ‘:r .




Which of the following are in the "Six Choose the correct answer from tl;}e options

Thinking Hats System", a form of parallel gxlﬁﬁow T g et

ﬂ"“kmg ( ) A, Band C only/#a@ A, B 3R C
foa 2rdt omedt” ﬁmﬁm%m b) B, C and D only/3ad B, C 3% D

m)ﬁ ﬁmmm'@m% WBDandEonlyWBDSﬂIE
fofeiaa 7 @ -9 0 7 (d) C, D and E only/&ad C, D 3 E

NTA UGC NET/JRF June 2021(24-11-2021 Shift-I)
A. Brown Hat/$gt (734 21

B. White Hat/¥a 21t /" Ans.(c):%mmmﬁmmwé
C. Violet Hayami 2ndt o S & e 6% @ it a0 4§ & a9 2
D. Red Havemat 2t~ TR i 9 4, 7, a5t 20 3 @

E. Black Hayael 2rd \/ A




What is the name for the technique which uses
images that are often more evocative than words,
and more precise and potent in triggering a wide

range of associations and thinking?

IH AhTch T o1 W ¢ ﬁm% forar @1 wam

T ST & S UTT: UTeal @t 3TUa 3t Wi

h & ¢ o fafayr yem & a=Et ain )

AIe & T ¥ 1fIe: 9eieh a TIiehomett gid &7 —
(a) Brainstorming/faamrasT

(b) Mind--mappiné,-,/;;ﬁ13'e"{ﬂ-a;'ﬂf?:t:;1T g

(¢) Story boardin A

(d) Synecticsfﬁﬁﬁ%’ﬂ =

NTA UGC NET/JRF June 2021(24-11-2021 Shift-I)
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What is the name for the technique which uses
images that are often more evocative than words,
and more precise and potent in triggering a wide
range of associations and thinking

0
I qHAIH &1 1 T g fraw ferar & e
feram ST & S U Vit et arueT Jifire W
h &I ¢ o fafqer yew & wgeEt 3
T T W A Wi @ TieRomTedt 21 87
(a) Brainstorming/faRay
(b) Mind-mapping/ﬂﬁg-f_fﬁﬂ /
(c) Story boarding/®RI 4
(d) Synectics/fﬁﬁ%’a'ﬂ
NTA UGC_ NET/JRF June 2021(24-11-2021 Shift-l_)_
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f
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Ll
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Identify the indirect teaching strat(;gies from

the following list:) T=Aifera =it ¥ 3yer
Toraror srriifaat =t fafga wifau:
(A) Gaining attention, informing the learner

(B)

(©)

(D)

(E)

of the objective and presenting the
stimulus m;llterial/mﬂﬁem, ﬂﬁﬁ%‘qﬁf
& L9 Sl HEEAT W Wieags |
T d ShI{AT
Concept building through examples and
non-examples 3§T -3
ey ¥ rgerun-famier

Explaining, exemplification and practice

GOIEhUT, TIETEIUT Jiaare= 3T 3reamd

Problem based presentation with pair-

share technique/TTHI-TRAAT dAh-lch o
T THEAT- TR T i
Encouraging students to use references
from their own experiences

faenfefai st S99 otuA erguwal 9 dad
@+ o foTe greaTfea &

Choose the correct answer from the options

given below:/ et fau 7o faercat & & I
T T RITAT:

(a) (B), (D) and (E)
(¢) (B),(C)and (D)

NTA UGC NET/JRF June 2021(22-11-2021 Shift-

(b) (A), (B) and (C)
(d) (C), (D)and (E)
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Identify the indirect teaching stratc;gies from
the following list:) To=ifera =it g

fraror sreifaat @ fafga sifsa:

(A) Gaining attention, informing the learner
of the objective and presenting the
stimulus millterial/&mmﬂﬁem, a:ﬁn%uﬁrf
W ILYT i GgAT W Wredrg |t
g d AT

(B) ncept building through examples and

\%ﬁn-examplesm 31%'!‘ TT-3SEI0N h
areaw 9 rgeun-fauiur -

(C) Explaining, exemplification and practice

GOIEhUT, TIETEIUT Jiaare= 3T 3reamd

D)” Problem based presentation with pair-

(
" share technique/TT0-THE dah-teh o
T THET- 3TATRT Jgfe

(E) couraging students to use references

/.!&l ) (B),(D)andiEi ) (b) (A), (B)and (C)

(

NTA UGC NET/JRF June 2021(22-11-2021 Shift]

¢) (B),(C)and (D) (d) (C), (D)and (E)

Ans.(mmmmgz

(
(
(

) TETRU 3 T-3ETRAN  WAW § e
) -G T & T S
1) fofifal 1 396 o e ¥ e @ & fou

g

e &

from their own experiences
faenfiiat @t 39 A WAl ¥ dad
= o foTg wreaTiga &

Choose the correct answer from the options

given below:/ et fau 7o faercat & & I
T T RITAT:

Easy Notes 4u
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Which level of teaching is also designated as
‘exploratory understanding’?/3TRra & fere

T I AT STaater 9 et W 87
(a) Memory level/Sjfd &R 11,
b) Understanding level/3/d@aiy & _—

(b)
(c) Reflective level/fawsi-faw &

(d) Autonomous development level
@ gy T

NTA UGC NET/JRF June 2021(21-11-2021 Shift-11)




Which level of teaching is also designated asl mc) : Tt TR W - O A wf ¢ o
‘exploratory understanding”?/3rm & fem T SR 3 F A g af
2 : fepan ST 21
T 1 W ey off g I ¢ FaaTe T T - 29 YER & O &y e
(a) Memory level Fyfd ¥R a‘ﬁ?ﬁ' ;T;Uﬁmﬁ@ st & g 4 f o g
(b) Understanding level/ a1y %@m 3 T G
Reflective level/famel-a=i R femroft v @ fonerwr- fomyl s awfes shwan e 21
(d) Autonomous development level 0 6 O & T fofaw s 1 e
T o W ﬁ?ﬁﬁrﬂwaddmﬁﬂr{éﬁﬁmﬁmmg|
39 YEN F e e & queE SS9 21
NTA UGC NET/JRF June 2021(21-11-2021 Shift-I1) | [swnereht sreaer o % 2 - & ‘?J B
r Easy Notes 4u I o
Online Study ‘:(




Which theory of learning supports reflective

level of teaching?/ 3TMRrTa &A-T fag
TOTRTT o WeAHIToHh ¥ o FWY Tl § ™M
(a) Theory of conditioning/3Faw 1 g — [
(b) Reinforcement theory /Sect fgid

(¢) Need-reduction theory

VA g
(d) Cognitive field theory/'{iqilrilr%-éﬂ g
NTA UGC NET/JRF June 2021(21-11-2021 Shift-1)




Which theory of learning supports reﬂectwe

level of teaching?/ 3TRrTH & @A-TT fagia
fnereT o AT T T AW AT 87

(a) Theory of conditioning/3f{a4 &l g

(b) Reinforcement theory /5a fHgid

(c) Need- reductlon theory
CICARETIEDEIETU R EEFAG
(d) Cognitive field theory/HTTeH-&

NTA UGC NET/JRF June 2021(21-11-2021 Shift-I)

Ans. (d) : . T 8 g R § S
g T 21 3 fwed (d) 9 2




Given below are two statements :/=<l Eff S

fag ma € :
Statement I : One of the basic principles of
progressive view of teaching is that education
should be life itself rather than a preparation
for living.

HAF (1) : Foraror & gt (warfergfier ) sfEemton
w Tw goud fagra € fe fram shew
TSiifaranT @t ot T& 3fug o 3u+ g |
|t Sfta= gt SR

Statement Il : According to reconstructionist
view of education the new social order must be
‘genuinely democratic’.

-

&AF (11) : Frem & gaf-umraret faem amr &
IqER T wmfye wawen fafya ww @
UATATreh g fen
In the light of the above statements, Choose the
correct answer from the options given below :

ST &Y o Aol |, Hrer fou o faemeat

o A WE 3T T TG R

(a) Both Statement I and Statement 11 are true.
F99 (1) 3 (11) 31 9 &

(b) Both Statement I and Statement Il are false.
F9 (1) 3R (1) ST 39T &

(c) Statement I 1s true but Statement II 1s false.
FI9 () T 2, AfHT FI (1) 379 2

(d) Statement I 1s false but Statement II 1s true.
FI7 (1) FGF 2, AT F99 (1) 99 2

NTA UGC NET/JRF June 2021(20-11-2021 Shift-II)

-—




Given below are two statements :/==l S she=
feu 7o ¥ -
Statement I : One of the basic principles of
progressive view of teaching is that education
should be life itself rather than a preparation
for living.

AT (1) : raror & wandT ( wIrtasfier ) SfEenor
T U Tada fagra g e Fram smae
arrsiifaest &t aardt I 1fug og 3799 = ma o
wrgut Sfra=s gt e

Statement Il : According to reconstructionist
view of education the new social order must be
‘genuinely democratic’.

AT (11) : raw & gat-mmuradt fa=w amr &6
IATER T Ty gt Aty w9 o+
USATAi ek BI4T ATEq

In the light of the above statements, Choose the
correct answer from the optlons given below :

IUAh AT oh ATelas |, = fau 1o fassear

W T WEl ST T 99T S

(a) Both Statement I and Statement Il are true.
Fa9 (1) (I1) == 99

(b) Both Statement I and Statement II are false.
HI9 (1) 37T (1) S 3799 &

(¢c) Statement I 1s true but Statement 11 1s false.
F99 (I) 99 2, FI9 (II) 379 2

(d) Statement I is false but Statement 11 is true.
Fa9 (1) 3I9F 2, Ha9 (1) 99 2

NTA UGC NET/JRF June 2021(20-11-2021 Shift-1T)

Ans. (a) : St fimn <9 e 2 16 fowl & =i @
W T 79 W IR 0 o g de fram|
ATl 7 dac dfaw 3 @ W atew g %
S 30 G S g RT3 9 9 9 ¢

FYF [ e 39 fogia W amufa
ft & fmn & quf el 4 0 & @A foR o
v g1 fn o wmf % frara &
g9, U B@ dids Gt qeens o faarmee
T & Ao § YO T WE F T ¢l 3
SR T e T w8 e o
M| 3 F9 1] 99 2|

Zafer foeed (a) 59 21

7

=1 J L
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The research wherein the focus of concern is
the exploration of applicability of theories to
newly emerging practices and domains of

knowledge is called /a8 Wer w7 @t
It Ugferat o & W fagidl @t yarea
& QN T T EH ¢, el g

(a) Practitioner's research/31Tahdl - & Y
(b) Theoretical research/agifed vy

(¢) Situational research/SRfEfima My

(d) Second level research/f5 wia wmy

UGC NTA NET JRF June 2020 (13 Nov.) Shift-I1




The research wherein the focus of concern is — —
the exploration of applicability of theories to A“,s' ,(d) : W w0 A T &l 3w m i
newly emerging practices and domains of o 1 ol 3 WIS & e W aq f gl R
knowledge is called /@% T foree J @ 0 YA @ o 2 T & 3 ) T 9 A 2

AT Ugfert i e W fagit @ e — —
& YU T T FT ¢, el -

(a) Practitioner's research/31%ameehd - D
(b) Theoretical research/Fgifod My

(c) Situational research/TffRfama Ty

(d) Second level research/fa W my
UGC NTANET JRF June 2020 (13 Nov.) Shift-11
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The communication process is active and
interactive at a very high level in which of the

following level of teachin "fﬁT&WT
ﬁurﬁ‘rm & " WA m&w wferam aife
Iodl T W Wichd Td 3T-afchaTcqeh gieil 87
(a) Reflective level/afamyl &R
(b) Understanding level/3TaaTY TR
(c) Memory level/Hgfd &R
(d) Autonomous development level
@ fadd T
UGC NTA NET JRF June 2020 (17 Oct.) Shift-I




The communication process is active an(f
interactive at a very high level in which of the
following level of teaching?/feyur &

frfefigs @1 & W § woww ghwen ot
Tou T W WAl U6 Srtehartenah it ¢/

(a) Reflective level/famyl &R

(b) Understanding level/31aaY R

(c) Memory level/jfd &R
(d) Autonomous development level

@ [ W
UGC NTANET JRF June 2020 (17 Oct.) Shift-I

Ans.(a):mmémtwlimmﬂﬁﬁ
O A W i a2 e g e
i 3 21 ® W ¥ e a1 0 30 o
e fon o 9 2




Identify the features of understandmg Ievel
teachmg from the followmg e forer &

mﬁﬁﬁrﬁaﬂﬁﬁﬁxﬁ{aaﬁﬁm

The teacher takes the initiative in
organizing subject matter, in structuring
the various units and in controlling the
practices taken up by students/

fowamma ammft @t wafT &@ o fafi
TERTZAT St TTEAT W 3 BTl o 19T Y
o & § Uget T 2

B. It is basically dedicated in helping the student

to see the relationship and :}gpllcauon as_tool
of fact./Tg WTERUE: BIA

Td T & UG B 3 TGN § g o
%ﬁiﬁmﬁﬂﬁmﬁl

C. It is directed as problem raising and
problem solving in a collaborative
manner/ T§ TWET IUH HA AT qWET

framur & weam & w0 H e gt gl

D.

It is aimed at the conceptualization of ideas
and facts/ g

YT TeRTuT i SIS AT 2

The purpose is to promote autonomy in the
learning process through self-control/ $HahT

Iy W-fEsur grr It ufsear o
@TIAT & qued=T g

Choose the correct answer from the options
iven below.

fear & faeheat ¥ @ W& 3w g

(a) Aand B only/a%'d?'l A 3T B
(b) B and D only/&dd B 3R D
(¢c) Cand D only/m C 3R D
(d) Dand E only/?ﬁa D 31 E
UGC NTA NET JRF June 2020 (1 Oct.) Shift-I1




Identify the features of understandmg Ievel
teachmg from the followmg e forer &

mﬁﬁﬁrﬁaﬂﬁﬁﬁxﬁ{aaﬁﬁm

The teacher takes the initiative in
organizing subject matter, in structuring
the various units and in controlling the
practices taken up by students/

fowamma ammft @t wafT &@ o fafi
TERTZAT St TTEAT W 3 BTl o 19T Y
o & § Uget T 2

B. It is basically dedicated in helping the student

to see the relationship and :}gpllcauon as_tool
of fact./Tg WTERUE: BIA

Td T & UG B 3 TGN § g o
%ﬁiﬁmﬁﬂﬁmﬁl

C. It is directed as problem raising and
problem solving in a collaborative
manner/ T§ TWET IUH HA AT qWET

framur & weam & w0 H e gt gl

D. Itis aimed at the conceptualization of_ideas
and facts/ 9§

YT HTHIUT Shl BT HIdT Bl

E. The purpose is to promote autonomy in the
learning process through self-control/ SRt

Ie9g W-Tag=wor g Ity wisham o
T AT Rl 9adT g

Choose the correct answer from the options
iven below.

fear = faseat o 9 W& 39T iU
(a) Aand B only/clrfdﬁ A 3R B
(b) B and D only/&ad B 3 D
(c) Cand D only/ao_clﬁ C 3R D
(d) D and E only/&ad D 3R E
UGC NTA NET JRF June 2020 (1 Oct.) Shift-11

Ans. (b) : 31 TR & fywmr &t fam femwad 2-
|. I8 WYRUI: SFE & Gad B 3G Ud 9 & ITHT

&9 & gy # wera < & ford wufda g 2
). T fouri wd qed & Gy F 99T A 2




Reflective level teaching is different from
memory level teaching because the pattern of
communication that is involved in reflective

level teaching is basically

fermoft T forerr wyfer waw foneror @ avew gren
¢ iR gEH NINGT WO @t Ugfd HeAa:
............... et 21

(a) Linear/THi@a

(b) Bottom-up/Ad ¥ FW &} 3R

() Interactional/3iaXfshaTedeh

(

d) Transactional/franf-afae
UGC NTA NET JRF June 2020 (1 Oct.) Shift-I




Reflective level teaching is different from
memory level teaching because the pattern of
communication that is involved in reflective
level teaching is basically

fermoff e forerur wgfer o fovarwr & ave gram
............... et &1

(a) Linear/TH@

(b) Bottom-up/Ad ¥ FH it 3

(c) Interactional/3iIshaTH

(

d) Transactional/Srarfafaad
UGC NTANET JRF June 2020 (1 Oct.) Shift-I

Ans. (d) : ol e Fown, st o o 0 o &
7 31 T e & T W A 2R e
e e g ¢
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Which of the following describe understanding
level teaching?

Prafeian fforeaeit ¥ & W @ R &
TAETET AT T AU HTdT &7

(A) Systematic, step by step presentation to

promote retention of facts presented/ﬂiﬂg
qA & WO W@ & W & qAd

ferw geaafiad grafe s&fd|
(B) Giving a large number of positive and
negative example to explain concepts/

FAURST & IR & fau iy den d
GHNHS U AR 32T S|

(C) Insisting on effective storage of information/
qamaﬂgé; gyt USRUT W T &A1)

(D) Helping to promote seeing of relationshi
among facts/Al & =g dasi & GcAHA Ehgf
grad A H T@EE AT

(E) Critical analysis of facts and information/
a1 Ud gaAisi & gHiEEs faveso

Choose the correct answer from the options

given below:

(a) AandBony/ahTzlﬁ A 3 B
(b) BandCony/%aﬂ B 3R C
(c) Cand D only/&ad C 3R D
(d) BandDony/aﬁF{ B3R D
UGC NTA NET JRF June 2020 (30 Sept.) Shift-I




Which of the following describe understanding
level teaching?

ﬁnﬁaﬁaa%ﬁmmﬁﬁﬁaﬁw@ﬁm%
3TTETET T T FUIT AT g2

(A) Systematic, step by step presentation to

promote retention of facts presented/ﬁﬂg
qA & WO W@ & W & qAd

fere gegaftad @t Sefd |
(B) Giving a large number of positive and
negative example to explain concepts/

FTURUTST H AN & U fees dw@m o
YHHAS Ud AHRIHS 3T 7|

(C) Insisting on effective storage of information/
gEAEl & S qUERUT W a &l

(D) Helping to promote seeing of relationsh%
among facts/Al & =g dasi & GcAHA

grad A H T@EE AT
(E) Critical analysis of facts and information/
a1 Ud gaAisi & gHiEEs faveso
Choose the correct answer from the options
given below:

(a) AandBony/%TﬂAafR B
(b) BandCony/éﬁlﬂ B 3R C
() CandDonyWCaﬂT D
(d) BandDony/aﬁH B3R D

UGC NTA NET JRF June 2020 (30 Sept.) Shift-I
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I%d A1 21 qg HARR-Fal & GIEIES ATGdl FH a@rd
21 78 forers o faadf & fod s/ase 3y FUar 2
fyreror & 39 R # diSi & ISR T GHFAT ST Gl
¢ 791 98 URERE Faer & I A fawha &

forsai & wgam & 9 F aer 2|
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Identify the characteristics and  basic
requirements of reflective level teaching in the
following list of statements:

HUAT ot fAfeiaa gt o fausff e v &

foreror =t favraarestt o SAET gawd e

=T faf=a aﬁﬁq:

1. Teacher presents the information and ideas
systematically to help to recall them_when

needed faemr =t
watda afieh ¥ WA &l g dieh
MAITHAT USH UT I% A1E &4 W "ag e

2. Teacher conduct drills and exercises to fix
up the ideas in the minds of the

students/f¥T8Teh B/ /BTN & wWiass o
foram 98 &9 &q 31T St g

3. Issues are raised and discussed with a view
to sift the potential rational solution of

problems/ wartaa
WU U &hid oh Se9d W WaEl ol

faesmoed IeTaT AEar § 30T 39 uT ==t &t
HATET B

4. Teacher asks students to give examples and

parallel ideas/PoT8Teh BT, /BTN | ISTEI0T
3f o= faew 29 & fag @gar 8

Academic sessions are conducted in a

dialogic mode to explore and explain_the
basis of arguments/daht § Tfga e = r

A9 3T ITAHT T HAA &k U
HATETeHeh ®a | e O3 »d I 8l
Choose the correct answer from the options

iven below:

o 9 Wt faehea &1 oa= Sifsu—
(a) 1 and2/1 3R 2 (b) 3 and 4/3 3T 4
(¢) 3and 5/3 3T 5 (d) 4 and 5/4 3R 5
UGC NTA NET JRF June 2020 (13 Nov.) Shift-I
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Identify the characteristics and  basic
requirements of reflective level teaching in the
following list of statements:

HUAT ot fAfeiaa gt o fausff e v &

foreror =t favraarestt o SAET gawd e

=T faf=a aﬁﬁq:

1. Teacher presents the information and ideas
systematically to help to recall them_when

needed faemr =t
watda afieh ¥ WA &l g dieh
MAITHAT USH UT I% A1E &4 W "ag e

2. Teacher conduct drills and exercises to fix
up the ideas in the minds of the

students/f¥T8Teh B/ /BTN & wWiass o
foram 98 &9 &q 31T St g

3. Issues are raised and discussed with a view
to sift the potential rational solution of

problems/ wartaa
WU U &hid oh Se9d W WaEl ol

faesmoed IeTaT AEar § 30T 39 uT ==t &t
HATET B

4. Teacher asks students to give examples and

parallel ideas/PoT8Teh BT, /BTN | ISTEI0T
3f o= faew 29 & fag @gar 8

Academic sessions are conducted in a

dialogic mode to explore and explain_the
basis of arguments/daht § Tfga e = r

A9 3T ITAHT T HAA &k U
HATETeHeh ®a | e O3 »d I 8l
Choose the correct answer from the options

iven below:

o 9 Wt faehea &1 oa= Sifsu—
(a) 1 and2/1 3R 2 (b) 3 and 4/3 3T 4
(¢) 3and 5/3 3T 5 (d) 4 and 5/4 3R 5
UGC NTA NET JRF June 2020 (13 Nov.) Shift-I
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21 39 off @ 3R Ay wR oftefed @ @1 3o
guenstt & dwfaq dfds Ty I e & T 9
e @ faamd e S @ SR 3 W g9 F e 2
3 ofofied, @l § FRT oMW & s SR I
I F & o0 Gaes &9 ¥ 9EF 99 0 99




What is the hallmark of reflective teaching?

famoft foreror @t fafyTe wgen=r @ 87

(a) Clear, organized and well structured content/
oy, fed 3R gutt fava

(b) Personalized, interactive and high level of
cognitive interchange/aafehd,  3id:fHaea
AR 359 TG GIAIE HEH-5EH

(c) Systematic, planned and quick question-
answer session/afeyd, g 3R FA
q34-3d{ 97

(d) Logical, coherent and. example based

presentations/dlfdid, T JaTET
IR i

UGC NTA NET JRF June 2020 (17 Oct.) Shift-11




What is the hallmark of reflective teaching?

fermroft foreror &t fafTe g &= 87

(a) Clear, organized and well structured content/
Ty, wed SR gt favaa

(b) Personalized, interactive and high level of
cognitive  interchange/afthe, i foraTeE
3R 3o WA S HEH-Fa

(c) Systematic, planned and quick question-
answer ~session/sa(e, qﬁﬂ\Tﬁ‘lﬁ R g
-3 §7

(d) Logical, coherent and. example based

presentations/dfd, BRI 3T
R i

UGC NTA NET JRF June 2020 (17 Oct.) Shift-I1

Ans.(a):m,@@ﬁaﬁlgmﬁﬂﬁ@aﬁm
e 3t vgam 21 faeii o & s &

W W W ad F fou

T 5 9 2 T Fa

FIUROTA & GO0 AR oG # W a3 %
TS S oG T, fER, Saemon & fove,

TR 99 S &) 9 a8
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Identify the correct sequence of cognitive
behaviours in the taxonomy of educational

objectives:
sﬁTJEm JLTAT & ARIHT | GFTTHS Tagrl &
&l ThT T UgeH i

1. Knowledge/3TH

2. Applicationlarfﬁl'ﬂ‘l'l'r

3 Understanding/m

4. Analysis/fageraun
5. Synthesis/ AT

Choose the correct answer from the options

glilgn below: L
fau Tu faweui @ | Wt I AT
(a) 1,2.3,4and 5/1,2,3,4 3R 5
(b) 4,5.1,2and 3/4,5,1,2 3R 3
() 1,3,2,4and 5/1,3,2,4 3R 5
(d) 4,5,1,3and 2/4,5,1,3 3R 2
UGC NTA NET JRF June 2020 (17 Oct.) Shift-I1




Identify the correct sequence of cognitive' Ans. (c)ﬂmsésal%Mﬁmmﬁﬂ
behaviours in the taxonomy of educational ;\q—g[mﬁ-;[g

objectives: . . oG
IEVAT & ITIHA W HHATATHS: HAGHT & L
& HE H UEATT H: sy
1. Knowledge/3TH
2. Appllcatmnlaﬂmﬁﬂ v i
£, Understanding/m Fioke
4. Analysis/faveraun \L
fergeram

5. Synthesis/Averaur

Choose the correct answer from the options

)
ggn below: L HyEAH
fau o farereat W & Wt I g - R — i
(a) 1,2,3,4and 5/1,2,3,4 3R 5 )
(b) 4,5,1,2and 3/4,5, 1,2 31X 3 ~
(c) 1,3,2,4and 5/1, 3, 2,431? 5 Easy Notes 4u I
(d) 4,5,1,3and 2/4,5, 1,3 3R 2 Online Study k&
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The goal of teaching as compared to training is
to provide the opportunity of:

FioTeTuT @i g o fnerer @ wea ftafaa

T T Y ST &

(a) Promotion of organized ideas as a result of
disciplined ~ drill/3enfed  sw® &
qRUTTEEY aftyd faari &1 s

(b) Sharing and caring leads to critical and

creative reflection/@rEErd 3R Fadt afed
ST S T T g fame & ain
3G 3 2

(¢) Establishing beliefs and values which leads to
change in attitude/Tr=dTd Td qedi & T
& A Hfugha gRadd @ R A 1 T

(d) Associating ideas which are similar and

dissimilar/37 foari § wg9d 9T S TER
fiyrar v tfwar wEd @
UGC NTA NET JRF June 2020 (11 Nov.) Shift-I




The goal of teaching as compared to training is
to provide the opportunity of:

yioTeruT @t e W e @ wea faeferaa

& AT Y T 8

(a) Promotion of organized ideas as a result of
disciplined ~ drill/3Funfed  IEE %
IRuTTEEY gty foari & e

(b) Sharing and caring leads to critical and

creative reflection/TgERt 3R Fadt afgd
s ot gt Td gemeiiar fawsd &t s
3G g 3

(c) Establishing beliefs and values which leads to
change in attitude/T=IATd Td Hedl @ T
& S HAfgfa oRada &t IR & o 9|

(d) Associating ideas which are similar and

dissimilar/37 foa/i § wg9d 991 S WER
fiyrar v 31 w@d &
UGC NTA NET JRF June 2020 (11 Nov.) Shift-1
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Match the following :

(a) Mahatma Gandht | (1) Naturalism

(b) Socrates (11) Idealism

(c) Rabindranath Tagore {(111) Basic Education
(Buniyadi Shiksha)

(d) Swami Vivekanand | (1v) Man Making
Education

Frwetia @ it @

() TR T | (i) S

(b) o (i) ST

(c) T SR | (i) aferc e

(d) T feeam | (iv) W & arlt e

Code :/&e:

(a) (b) (c)
(@) (1)  (v) (i)
(b) (iv) () (i)
(c) (i) (i) (1v)
(d) (m) (m) ()

_—z £ _\J L \||E
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Match the following : | Code :/ &e:
(a) Mahatma Gandht | (1) Naturalism @ () () (d)
(b) Socrates (11) Idealism (a) (1) (iv) (i) (iv)
(c) Rabindranath Tagore |(ii1) Basic Education (b) (1v) () () (1)
| (Buniyadi Shiksha) (c) (m) (i) (v) (1)
(d) Swami Vivekanand  |(iv) Man Making (d) (m) (m) (1) (1)
Education
mﬁww Ans. (d) :
(o) T T | () Yo | Tl
' (a) TETT el el fame
OFH | e il
(c) G| O (111) W fyre (o) T o T
(d)wﬁﬁéﬁﬂﬁ :v)ﬂlﬂﬂ?ﬁﬂl’vﬁﬁmﬂ (d) Tt fadams Td a1 areil (e




Arrange the following steps of teaching process

in order Mm%ﬁnuﬁﬁ
(1) Evaluationﬂfﬂm
(i) Relating the present knowledge, with
previous knowledge/FdUE
TR W Hag
(iii) Formulation of objectweslaw & e
(iv) Presentation of teaching materials /fTeror

a1 e
(v) Reteaching/T: foraror
(@@ () (v) () (v)
(b) () () (1) () (v)
() (w) () (v) (1) (V)
(d) (1) () (v) () ()




Arrange the following steps of teaehmg process

in order /meT m f tl'q;f @l
(i) Evaluationm

(i1) Relatmg the present knowledge, with
previous knowledge/ddu= T @& Ud

T § Hag &
(iii) Formulation of objeetwes/ﬁﬁf a1 forr
(iv) Presentation of teaching materials /fTeror
w1 e
(v) Reteaching/T: foraruT

(@ @) () (v) (m) ()
(b) () () (1) (v) (V)
() (m) () (v} (1) (V)
(d) ) () (v) (u) (V)

Ans. (b) : Fow 550 3 T a1 o &t 1 -

oﬂﬂqﬁﬂﬁﬁ@ﬂﬁﬂmm
o T w0 fow gl @ e
BT l'i’rl:ﬁlﬁm
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- Which of the following is not the maxim of

teaching”
5mfwww€f%7

) From simple o complex/STERT & e

) From emotion fo inteligence & ¥ s
(¢) From concree o abstract¥4 ¥

) From indefinte to defnite /3143 8 o




Match List- I with List-1I and select the correct
answer from the codes given below :

Tl ol Gefi-ll ¥ e gu fer gu e 0 @
TET 3T &1 T T

List-1 List-11
(a) | Pavlov | (1) Insight

qracd H-Iare

(b) | Skinner | (11) Operant Conditioning

fea foran g 3FaA

(¢) | Kohler | (i11) | Contiguity
P e

(d) | Guthrie [ (1iv) | Classical conditioning
e NICIERCECEoT!

(@ (b) (c) (d) -4 L
(@) (1) (m) (m) (1v) Easy Notes 4u ||
(b) (1) () () (1v) Online Study ‘:(

— e

© () (i) (i) (iv)
@ () (i) (i) (iv)




Match List- I with List-II and select the correct ||Ans.(b):
answer from the codes given below : el g1l
el o el @ e g @ g ge dw | T gﬁﬁ“
el ITT T T iU : v i FITE
List-1 List-11 o afsrear
(a) | Pavlov | (1) Insight
LERIC) e
(b) | Skinner | (1) Operant Conditioning
feTt foham A A
(c) | Kohler | (i) | Contiguity
FIEH e
(d) | Guthrie | (1v) | Classical conditioning
e e AT

(@ (b) (c) (
(@) (1) () (i) (iv)
(b) (1) () () (
(c) (1) () (m) (iv)
(d) (1) () () (iv)




Thanks For Watching & Share Your Score !
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